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Найдите значение выражения 
2 9

18
xy y x

x x y
+ ×

+
 при 9,6x = - , 0,4y = - . 

 

 

 
Ответ: ___________________________. 
 
 
 

 
 

Найдите значение выражения 
2 3

15
xy y x

x x y
+ ×

+
 при 9,5x = , 6y = - . 

 

 

 
Ответ: ___________________________. 
 
 
 

 
 

Найдите значение выражения 2
16 4

4 aa a
-

-
 при 12a = - . 

 

 

 
Ответ: ___________________________. 
 
 
 

 
 

Найдите значение выражения 2
9 9

aa a
-

-
 при 6a = . 

 

 

 
Ответ: ___________________________. 
 
 
 

 
 

Найдите значение выражения 
2

2
9 9:a x ax x

a a
+ +  при 99a = - , 66x = - . 

 
 

 

 
Ответ: ___________________________. 
 
 
 

 
 

Найдите значение выражения 
2

2
5 5:a x ax x

a a
- -  при 74a = - , 10x = - . 

 
 

 

 
Ответ: ___________________________. 
 
 
 

 
 

Найдите значение выражения 61
6 6

x y
x xy

+-  при 32x = , 1
8

y = . 

 

 

 
Ответ: ___________________________. 
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Найдите значение выражения 41
4 4

x y
x xy

+-  при 22x = , 1
6

y = . 

 

 

 
Ответ: ___________________________. 
 
 
 

 
 

Найдите значение выражения ( )
2 8 164 :

4
x xx

x
- +

-
+

 при 36x = . 

 

 

 
Ответ: ___________________________. 
 
 
 

 
 

Найдите значение выражения ( )
2 2 11 :

1
x xx

x
+ +

+
-

 при 4x = . 
 
 

 

 
Ответ: ___________________________. 
 
 
 

 
 

Найдите значение выражения ( ) 21 1
9 5 4

a
a a

+ ×  при 8,1a = - . 
 
 

 

 
Ответ: ___________________________. 
 
 
 

 
 

Найдите значение выражения ( ) 21 1
5 2 6

a
a a

+ ×  при 4,2a = . 
 
 

 

 
Ответ: ___________________________. 
 
 
 

 
 

Найдите значение выражения ( )
2 281 1 1:
9 9

a b
ab b a

-
-  при 82

17
a = , 19

17
b = . 

 

 

 
Ответ: ___________________________. 
 
 
 

 
 

Найдите значение выражения ( )
2 29 1 1:
3 3

a b
ab b a

-
-  при 48

7
a = , 14

7
b = . 

 

 

 
Ответ: ___________________________. 
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